snowbabies DEPARTMENT 5

	Guest Collection					
			Year	Year	US	CAD
	Item#	Description	Issue	Retired		SRP
	56.69900	"I Have A Feeling We're Not In Kansas Anymore"	1998	2001	\$50.00	\$80.00
	56.69901	"A Gift So Fine From Madeline"	1998	2001	\$50.00	\$80.00
	56.69010	"They're Coming From Oz, Oh My!"	1999	2004	\$55.00	\$88.00
]	56.69902	"A Kiss For You And 2000 Too"	1999	2000	\$50.00	\$80.00
]	56.69903	"Under The Midnight Moon With Barbie"	2000	2000	\$60.00	\$90.00
]	56.69904	"Tea For Two"	2000	2001	\$50.00	\$75.00
	56.69905	"Have A Ball", Limited Edition of 20,000 Twenty-fifth Anniversary Piece	2000	2001	\$135.00	\$209.50
l	56.69906	"Rudolph Gets Ready"	2000	2003	\$50.00	\$77.50
]	56.69907	"Guiding The Sleigh" Ornament	2000	2004	\$15.00	\$23.50
]	56.69908	"The Red-Nosed Reindeer" Ornament	2000	2002	\$17.50	\$27.00
]	56.69910	"I Love You Rudolph" Waterglobe	2000	2002	\$32.50	\$50.50
]	56.05735	"You're Not Misfit To Me" NALED/ Parkwest Exclusive	2001	2001	\$30.00	\$48.00
]	56.69128	"I'll Be Home For Christmas"	2001	2001	\$50.00	\$75.00
]	56.69912	"Catch Me If You Can"	2001	2003	\$50.00	\$80.00
]	56.69913	"Catch Me If You Can" Waterglobe/ Musicbox Tune: "Frosty The	2001	2003	\$32.50	\$52.00
		Snowman"				
]	56.69914	"Jolly & Happy With You" Ornament	2001	2003	\$15.00	\$24.00
	56.69915	"And We've Been Really Good" Limited To Year of Production 2001	2001	2001	\$65.00	\$97.50
	56.69918	"Eloise On The Polar Express"	2001	2002	\$50.00	\$80.00
	56.69919	"Playing In The Snow With Eloise" Waterglobe	2001	2002	\$32.50	\$52.00
	56.69920	"Swinging On The Moon With Eloise" Ornament	2001	2002	\$17.50	\$28.00
]	56.69921	"And Toto Too?"	2001	2002	\$95.00	\$150.00
]	56.69921	"Make Room For Toto" Lift Top Box	2001	2002	\$17.50	\$150.00
]	56.69923	"Teddy Bear Tea" Lift Top Box	2001	2004	\$40.00	\$64.00
]	56.69924	"We See Eye To Eye" Omament	2001	2002	\$32.50	\$52.00
]	56.69925	"First Love" Waterglobe/ Music box Tune: "Brahm's Lullaby"	2001	2002	\$32.50	\$52.00
]	56.69926	"Dance Of The Sugar Plum Fairy" Limited To Year of Production 2002	2002	2002	\$75.00	\$120.00
1	30.07720	Tune: "Dance Of The Sugar Plum Fairy"	2002	2002	Ψ73.00	ψ120.00
]	56.69927	"a Curious Ride"	2002	2003	\$50.00	\$80.00
]	56.69928	"Peppermint Painters" Waterglobe/ Music box Tune: "Santa Claus IS	2002	2003	\$32.50	\$52.00
		Coming To Town"				
]	56.69929	"Christmas Nutcracker" Ornament, Limited To Year Of Production 2002	2002	2002	\$15.00	\$24.00
]	56.69980	"Peppermint Pals" ornament	2002	2003	\$15.00	\$24.00
]	56.69981	Dr. Seuss' How The Grinch Stole Christmas! "At The Heart Of Christmas"	2002	2002	\$55.00	\$87.50
	56.69982	Dr. Seuss' How The Grinch Stole Christmas! "I'm Glad You Love	2002	2002	\$17.50	\$28.00
]	30.09982	Christmas" ornament	2002	2002	\$17.30	\$28.00
]	56.69983	Dr. Seuss' How The Grinch Stole Christmas! "Welcome Christmas"	2002	2002	\$32.50	\$52.00
	30.07703	waterglobe/ music box Tune: We Wish You a Merry Christmas	2002		Ψ32.30	ψ52.00
]	56.69984	"Rag Time"	2002	2003	\$55.00	\$88.00
	56.69985	"Dance With My Baby" ornament	2002	2003	\$15.00	\$24.00
]	56.69986	"Snow White And The Seven Snowbabies, set of 3, Limited Edition of	2002	2003	\$95.00	\$152.00
-		15,000			2,2.00	2.00
]	56.69987	"Santa Claus Is Coming To Town", Limited To Year Of Production 2003	2003	2003	\$75.00	\$105.00
	56.69988	"Here Comes Santa Claus!" ornament	2003	2003	\$15.00	\$21.00
		TIOIS COMO DUMA CIAAD. OMAMICIN	2005	2005	Ψ15.00	Ψ21.00

56 60000	HA A C 1 O1 1 1 1 1 177 d A C 1 . H	2002	2006	φ55.00	Φ 77. 50
56.69990	"A Magical Sleighride With Mickey"	2003	2006	\$55.00	\$77.50
56.69991	"Minnie And Me Skating"	2003	2006	\$42.50	\$59.50
56.69992	"Minnie And Me" Lift Top Box	2003	2006	\$20.00	\$28.00
56.69993	"Tell Me A Story Mother Goose"	2003	2005	\$60.00	\$84.00
56.69994	"Let's Fly, Mother Goose" ornament	2003	2005	\$25.00	\$35.00
56.69995	"Santa Needs Time Out Too" Limited To Year Of Production 2004	2004	2004	\$75.00	\$105.00
56.69996	"Santa's Little Helper" ornament Limited To Year Of Production 2004	2004	2004	\$15.00	\$21.00
56.69997	"High Five For Humpty Dumpty"	2004	2004	\$55.00	\$77.00
56.69998	"You Go First" ornament	2004	2004	\$17.50	\$24.50
56.69999	"Making Snowfriends" Limited To Year Of Production 2004	2004	2004	\$75.00	\$105.00
56.69801	"Sweets Ready For Treats"	2004	2006	\$35.00	\$44.00
56.69802	"A Candy-coated Christmas"	2004	2006	\$55.00	\$69.00
56.69803	"Pooh's Hunny Tree"	2004	2007	\$55.00	\$69.00
56.69804	"Look Pooh! No Hands!"	2004	2006	\$30.00	\$38.00
56.69805	"Baking For Santa" Lighted, AC/DC adapter compatible, Limited To Year Of Production 2005	2005	2005	\$75.00	\$95.00
56.69806	"You Make Christmas Extra Sweet" ornament Limited To Year Of	2005	2005	\$15.00	\$19.00
	Production 2005				
56.69807	"Reading Is Fun With Pooh"	2005	2007	\$37.50	\$47.00
56.69808	"Riding With Friends"	2005	2007	\$35.00	\$44.00
56.69811	"Dance And Be Happy"	2005	2006	\$95.00	\$120.00
56.69812	"Rubber Ducky, Have Some Fun"	2005	2006	\$55.00	n/a
56.69813	"Look What We Have For Mickey!"	2005	2006	\$55.00	\$69.00
56.69814	"Let's Add A Smile"	2005	2006	\$32.50	\$41.00
56.69815	"Elmo Loves Christmas"	2005	2006	\$27.50	n/a
56.69816	"Friends Come In All Sizes"	2005	2006	\$27.50	\$35.00
56.69820	"We Are Wrapped And Ready To Go"	2006	2007	\$55.00	\$66.00
56.69821	"Find Me A Rainbow, Big Bird!"	2006	2007	\$20.00	\$24.00
56.69822	"We'll Help You Through, Pooh!"	2006	2006	\$95.00	\$115.00
56.69823	"A Mickey Melody"	2006	2009	\$45.00	\$56.00
56.69824"	"Decorating The Tree, Just Minnie And Me"	2006	2007	\$55.00	\$69.00
56.69826	"You're Tigger-iffic!"	2006	2007	\$25.00	\$31.00
56.69827	"Magic From Tinker Bell"	2006	2009	\$60.00	\$75.00
56.69828	"A Betime Story With Cookie Monster"	2006	2007	\$47.50	n/a
56.69829	"Merry Christmas Oscar!"	2006	2007	\$60.00	n/a
56.69830	"If The Shoe Fits"	2006	2008	\$65.00	\$82.50
56.69831	"An Enchanting Day With Belle"	2006	2009	\$70.00	\$87.50
56.69860	"A Very Pooh Christmas" Tree & Ornament Set	2006	2008	\$195.00	\$245.00
56.67914	"I Would Even Say It Glows" ornament	2007	2010	\$25.00	\$30.00
56.67915	"Trimming The Tree With Tink"	2007	2009	\$50.00	\$60.00
56.67916	"Special Delivery From Mickey and Me"	2007	2010	\$47.50	\$57.00
56.67917	"Rudolph's Spare Noses"	2007	2008	\$100.00	\$120.00
56.67918	"Snow White And The Seven Friends" 70th Anniversary Edition	2007	2008	\$95.00	\$115.00
796022	"One By One, She Kissed Them All"	2007	2009	\$75.00	\$97.50
796024	"Riding The Sea With Ariel"	2007	2009	\$75.00	\$97.50
796019	"Blustery Day With Pooh"	2007	2009	\$65.00	\$85.00
796021	"Happy Landing Piglet"	2007	2009	\$37.50	\$49.00
796025	"Mickey's Marshmallow Roast"	2007	2009	\$125.00	\$165.00
801583	"Winter Sure Is Fun, Isn't It Bambi?" Box	2008	Current	\$25.00	\$33.00
801685	"Gotta Watch Both Ends At The Same Time"	2008	Current	\$75.00	\$97.50
801892	"Fairy Flakes"	2008	2009	\$50.00	\$65.00
801955	"Let's Go Skating, Elmo"	2008	Current	\$32.50	\$43.00
 	. O				

	lu. 5.1 at	2000		4-0.00	400.00
807367	"A Baby Shower"	2008	2010	\$70.00	\$90.00
798871	"Be Our Guest"	2008	2010	\$38.50	\$50.00
798870	"Goodnight Pooh Bear"	2008	Current	\$38.50	\$50.00
798868	"All Dolled Up"	2008	2010	\$38.50	\$50.00
798869	"The Three Mouseketeers"	2008	2010	\$38.50	\$50.00
801556	"We're Off To The Ball, Cinderella"	2008	2009	\$125.00	\$165.00
808172	"You're A Bad Witch"	2009	2014	\$16.00	\$21.00
808707	"No Place Like Home, Toto"	2009	2014	\$16.00	\$21.00
808709	"You've Got Heart, Baby"	2009	2014	\$16.00	\$21.00
808711	"You're A Good Witch"	2009	2014	\$16.00	\$21.00
808710	"You've Got Courage, Baby"	2009	2014	\$16.00	\$21.00
808708	"You're So Smart, Baby"	2009	2014	\$16.00	\$21.00
811849	"Especially For You"	2009	2010	\$40.00	\$52.00
811283	"Your Secret Is Safe With Me"	2009	2010	\$38.50	\$50.00
807378	"Flying With Dumbo"	2010	Current	\$40.00	\$48.00
807373	"Piglet & Me"	2010	Current	\$25.00	\$30.00
807338	"The Cat In The Fiddle"	2010	Current	\$25.00	\$30.00
4017946	"Three Little Kittens"	2010	Current	\$27.50	\$33.00
807377	"Little Miss Muffet Sat On Her Tuffet"	2010	Current	\$25.00	\$30.00
807379	"Humpty Dumpty"	2010	Current	\$25.00	\$30.00
4020351	"Cinderella"	2010	2012	\$16.50	\$20.00
4020352	"Snow White"	2010	2012	\$16.50	\$20.00
4020353	"Belle"	2010	2012	\$16.50	\$20.00
4020354	"Ariel"	2010	2012	\$16.50	\$20.00
4020365	"Sleeping Beauty"	2010	2012	\$16.50	\$20.00
4020347	"Spinning Yarns"	2011	Current	\$35.00	\$42.50
4020001	"Andy"	2011	Current	\$17.50	\$21.00
4019999	"Raggedy Ann"	2011	Current	\$17.50	\$21.00
4020370	"I'll Never Let You Go"	2011	2012	\$27.50	\$33.00
4020350	"Raggedy Ann & Me" ornament	2011	2012	\$25.00	\$30.00
4019982	"Be Like Mickey Too"	2011	2013	\$20.00	\$24.00
4018437	"The Christmas Mouse"	2011	2013	\$17.50	\$21.00
4018446	"A Little Pixie Dust"	2011	2013	\$17.50	\$21.00
4020002	"Tinker Belle Baby"	2011	2013	\$18.50	\$22.50
4019936	"Honey For My Tummy"	2011	2013	\$17.50	\$21.00
4019937	"I Can Be Brave With Pooh"	2011	2013	\$17.50	\$21.00
4019938	"I Can't Be Sad With Pooh"	2011	2013	\$17.50	\$21.00
4019939	"I'm A Bouncy Tiger!"	2011	2013	\$17.50	\$21.00
4024875	"Winged Monkey"	2011	2013	\$18.50	\$22.50
4024877	"Dorothy In Dress"	2011	2014	\$18.50	\$22.50
4025941	"Wizard Of Oz"	2011	2013	\$18.50	\$22.50
4025942	"Lollipop Boy"	2011	2013	\$18.50	\$22.50
4024873	"Lullaby Girl"	2011	2013	\$18.50	\$22.50
4024848	"Alice"	2012	2014	\$20.00	\$24.00
4024849	"Cheshire Cat"	2012	2014	\$20.00	\$24.00
4024850	"Mad Hatter"	2012	2014	\$20.00	\$24.00
4024851	"White Rabbit"	2012	2014	\$20.00	\$24.00
4024852"	"Queen Of Hearts"	2012	2014	\$20.00	\$24.00
4027468	"Wicked Witch Of The West"	2012	2015	\$20.00	\$24.00
4027735	"Over The Rainbow"	2012	2014	\$20.00	\$24.00
4027473	"Kiss For Kermit"	2012	Current	\$22.50	\$27.00
4027474	"Miss Piggy Comes To Tea"	2012	2014	\$22.50	\$27.00

□ 4042504 "King Of The Forest" 2014 2016 \$ 30.00 \$ 36.00 □ 4042507 "Dorothy Picks Apples" 2014 2016 \$ 35.00 \$ 42.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Listens To A Story" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 2016 \$ 30.00 \$ 36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045223 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 36.00		1.00-1	lumi t. D. tt. m. mi. u	10010	10011	000.50	
Mail Nat							
4031848	H		ee ee				
			·				
4031851 Tighting Up Christmas" 2013 2016 \$25.00 \$30.00							
4031850							
4031843							
1	-		^				
□ 4035757 "You're No Misfit With Me" 2013 2014 \$32,50 \$39,00 □ 4035758 "Woulph's Flight Training" 2013 2014 \$215,50 \$34,50 □ 4037310 "Team Rudolph" 2014 2015 \$35,00 \$42,00 □ 4037510 "Team Rudolph" 2014 2015 \$45,00 \$56,00 □ 4038759 Yellow Brick Road 2013 2015 \$45,00 \$56,00 □ 4038099 "Ilappily Ever After" 2014 2015 \$30,00 \$36,00 □ 4038112 "Rock-A-Stack, Baby" 2014 2015 \$30,00 \$36,00 □ 4038112 "Rock-A-Stack, Baby" 2014 2015 \$25,00 \$30,00 □ 4038113 "Chatter Baby" 2014 2015 \$25,00 \$30,00 □ 4042501 "Find Hars & Pixic Dust" 2014 2015 \$30,00 \$36,00 □ 4042501 "Surender Drothy" 2014 2015 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
1							
Georgian							
Color							
1							
1	-		1				
1							
□ 4038111 "Pull-A-Tune" 2014 2015 \$25.00 \$30.00 □ 4038112 "Rock-A-Stack, Baby" 2014 2015 \$25.00 \$30.00 □ 4038113 "Chatter Baby" 2014 2015 \$25.00 \$30.00 □ 4039547 "Faith, Trust & Pixie Dust" 2014 2015 \$30.00 \$36.00 □ 4039691 "Tm All Ears" 2014 2016 \$30.00 \$36.00 □ 4042505 "Surender Dorothy" 2014 2016 \$30.00 \$36.00 □ 4042506 "King Of The Forest" 2014 2016 \$30.00 \$36.00 □ 4042506 "Borothy Picks Apples" 2014 2016 \$30.00 \$36.00 □ 4042506 "Borothy Picks Apples" 2014 2016 \$30.00 \$36.00 □ 4042507 "Lighting Up Bumble" 2014 2016 \$30.00 \$36.00 □ 4042528 "Eif On The Shelf Gives A Gift" 2014			· ·				
□ 4038112 "Rock-A-Stack, Baby" 2014 2015 \$25.00 \$30.00 □ 4038113 "Chatter Baby" 2014 2015 \$25.00 \$30.00 □ 4039513 "Faith, Trust & Pixie Dust" 2014 2015 \$30.00 \$36.00 □ 4039691 "I'm All Ears" 2014 2016 \$30.00 \$36.00 □ 4042505 "Surrender Dorothy" 2014 2016 \$30.00 \$36.00 □ 4042506 "Surrender Dorothy" 2014 2016 \$30.00 \$36.00 □ 4042506 "Corothy Picks Apples" 2014 2016 \$30.00 \$36.00 □ 4042507 "Cive Me Your Hand" 2014 2016 \$30.00 \$36.00 □ 4042508 "Lighting Up Bumble" 2014 2016 \$30.00 \$36.00 □ 4042509 "Lighting Up Bumble" 2014 2016 \$30.00 \$36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015<			** *				
1							
□ 4039547 "Faith, Trust & Pixic Dust" 2014 2015 \$30.00 \$36.00 □ 4039691 "I'm All Ears" 2014 2015 \$30.00 \$36.00 □ 4042505 "Surrender Dorothy" 2014 2016 \$30.00 \$36.00 □ 4042506 "King Of The Forest" 2014 2016 \$30.00 \$36.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$30.00 \$36.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$30.00 \$36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$30.00 \$36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$30.00 \$36.00 □ 4045228 "Elf On The Shelf Gives A Gift" 2015 2017 \$37.50 \$45.00 □ 4045228 "Elf On The Shelf Listens To A Story" 2015 2017 \$37.50 \$45.00 □ 4045229 "Ring Me Up Baby"						-	
□ 4039691 "I'm All Ears" 2014 2015 \$30.00 \$36.00 □ 4042505 "Surmender Dorothy" 2014 2016 \$30.00 \$36.00 □ 4042504 "King Of The Forest" 2014 2016 \$30.00 \$36.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$30.00 \$36.00 □ 4042509 Lighting Up Bumble" 2014 2016 \$30.00 \$36.00 □ 4042509 Lighting Up Bumble" 2014 2016 \$30.00 \$36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$30.00 \$36.00 □ 4042508 "Elf On The Shelf Gives A Gift" 2015 2017 \$37.50 \$45.00 □ 4045227 "Elf On The Shelf Listens To A Story" 2015 2017 \$37.50 \$45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 2016 \$30.00 \$36.00 □ 4045224 "Ring Me Up Baby"			· ·				
□ 4042505 "Surrender Dorothy" 2014 2016 \$ 30.00 \$ 36.00 □ 4042504 "King Of The Forest" 2014 2016 \$ 30.00 \$ 36.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$ 30.00 \$ 36.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat							
□ 4042504 "King Of The Forest" 2014 2016 \$ 30.00 \$ 36.00 □ 4042506 "Dorothy Picks Apples" 2014 2016 \$ 35.00 \$ 42.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Uen Wey Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 "Elf On The Shelf Listens To A Story" 2015 2016 \$ 30.00 \$ 36.00 □ 4045228 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 36.00			"I'm All Ears"				
□ 4042506 "Dorothy Picks Apples" 2014 2016 \$ 35.00 \$ 42.00 □ 4042507 "Give Me Your Hand" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Lighting Up Bumble" 2014 2016 \$ 30.00 \$ 36.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 2017 \$ 37.50 \$ 45.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 36.00 □ 405231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 36.00			"Surrender Dorothy"			\$ 30.00	\$ 36.00
□ 4042507 "Give Me Your Hand" 2014 2016 \$ 30.00 \$ 36.00 □ 4042509 Lighting Up Bumble" 2014 2016 \$ 40.00 \$ 48.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 Current \$ 30.00 \$ 36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 36.00 □ 4045234 "Easy Baker" 2015 2016 \$ 30.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00			i				
□ 4042509 Lighting Up Bumble" 2014 2016 \$ 40.00 \$ 48.00 □ 4042508 "Very Shiny Nose" 2014 2016 \$ 30.00 \$ 36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Listens To A Story" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 2016 \$ 30.00 \$ 36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 36.00 □ 4045234 "Easy Baker" 2015 2016 \$ 30.00 \$ \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 45.00 \$ \$ 50.00		4042506	"Dorothy Picks Apples"				\$ 42.00
□ 4042508 "Very Shiny Nose" 2014 2016 \$30.00 \$36.00 □ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$37.50 \$45.00 □ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$37.50 \$45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 2016 \$30.00 \$36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$30.00 \$36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$30.00 \$36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$30.00 \$36.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$30.00 \$36.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$40.00 \$50.00 □ 4050077 "Lead the Way, Powder" 2015 2017 \$30.00 \$37.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2017 \$45.00 □<		4042507	"Give Me Your Hand"	2014		-	\$ 36.00
□ 4045226 "Elf On The Shelf Gives A Gift" 2015 2017 \$ 37.50 \$ 45.00 □ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 Current \$ 30.00 \$ 36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 30.00 \$ 24.00 □ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2016 \$ 40.00 \$ 50.00 □ 4051841 The Elf On The Shelf Makes A List 2015 2017 \$ 45.00 \$ 56.50 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00			Lighting Up Bumble"	2014		\$ 40.00	\$ 48.00
□ 4045227 "Elf On The Shelf Helps Santa" 2015 2017 \$ 37.50 \$ 45.00 □ 4045228 Elf On The Shelf Listens To A Story" 2015 Current \$ 30.00 \$ 36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 20.00 \$ 24.00 □ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$		4042508	"Very Shiny Nose"	2014		\$ 30.00	\$ 36.00
□ 4045228 Elf On The Shelf Listens To A Story" 2015 Current \$ 30.00 \$ 36.00 □ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 20.00 \$ 24.00 □ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Helps Santa 2016 2017 \$ 37.50		4045226	"Elf On The Shelf Gives A Gift"			\$ 37.50	\$ 45.00
□ 4045229 "Ring Me Up Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 20.00 \$ 24.00 □ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050075 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 30.00 \$ 37.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Gives Flying Lessons 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 30.00 \$		4045227	"Elf On The Shelf Helps Santa"	2015	2017	\$ 37.50	\$ 45.00
□ 4045230 "Rock Away, Baby" 2015 2016 \$ 30.00 \$ 36.00 □ 4045231 "The Cat In The Hat" 2015 2016 \$ 20.00 \$ 24.00 □ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 37.50 \$ 52.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50		4045228	Elf On The Shelf Listens To A Story"	2015		\$ 30.00	\$ 36.00
□ 4045231 "The Cat In The Hat" 2015 2016 \$ 20.00 \$ 24.00 □ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 30.00 \$ 42.00 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2017 \$ 30.00		4045229	"Ring Me Up Baby"	2015		\$ 30.00	\$ 36.00
□ 4045234 "Easy Baker" 2015 2016 \$ 35.00 \$ 42.00 □ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 37.50 \$ 52.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 Current \$ 37.50 \$ 52.50 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00		4045230	"Rock Away, Baby"	2015		\$ 30.00	\$ 36.00
□ 4050075 "Tell Me Your Story, Starshine" 2015 2016 \$ 40.00 \$ 50.00 □ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 30.00 \$ 42.00 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2017 \$ 37.50 \$ 52.50 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42		4045231	"The Cat In The Hat"	2015	2016	\$ 20.00	\$ 24.00
□ 4050076 "Good Night, Snuzzle" 2015 2017 \$ 30.00 \$ 37.50 □ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 27.50 \$ 38.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 405229 Ring Me Up, Baby 2016 2017 \$ 30.00		4045234	"Easy Baker"			\$ 35.00	\$ 42.00
□ 4050077 "Lead the Way, Powder" 2015 2017 \$ 45.00 \$ 56.50 □ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 27.50 \$ 38.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00<		4050075	"Tell Me Your Story, Starshine"	2015	2016	\$ 40.00	\$ 50.00
□ 4051841 The Elf On The Shelf Makes A List 2016 2018 \$ 30.00 \$ 42.00 □ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 27.50 \$ 38.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 <td></td> <td>4050076</td> <td>"Good Night, Snuzzle"</td> <td>2015</td> <td>2017</td> <td>\$ 30.00</td> <td>\$ 37.50</td>		4050076	"Good Night, Snuzzle"	2015	2017	\$ 30.00	\$ 37.50
□ 4051840 The Elf On The Shelf Gives Flying Lessons 2016 2018 \$ 30.00 \$ 42.00 □ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 27.50 \$ 38.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Bamyard Baby 2016 2016 \$ 30.00 \$ 42.00 <td></td> <td>4050077</td> <td>"Lead the Way, Powder"</td> <td>2015</td> <td>2017</td> <td>\$ 45.00</td> <td>\$ 56.50</td>		4050077	"Lead the Way, Powder"	2015	2017	\$ 45.00	\$ 56.50
□ 4051842 The Elf On The Shelf Guards The Cookies 2016 2017 \$ 30.00 \$ 42.00 □ 4051845 Making New Girl Scout Friends 2016 2017 \$ 27.50 \$ 38.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Bamyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051841	The Elf On The Shelf Makes A List				\$ 42.00
□ 4051845 Making New Girl Scout Friends 2016 2017 \$ 27.50 \$ 38.50 □ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Bamyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051840	The Elf On The Shelf Gives Flying Lessons	2016		\$ 30.00	\$ 42.00
□ 4051846 Girl Scout - Snow Friend 2016 2017 \$ 37.50 \$ 52.50 □ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Bamyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051842	The Elf On The Shelf Guards The Cookies	2016	2017	\$ 30.00	\$ 42.00
□ 4045227 The Elf On The Shelf Helps Santa 2016 Current \$ 37.50 \$ 52.50 □ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 42.50 \$ 57.50 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051845	Making New Girl Scout Friends		2017	\$ 27.50	\$ 38.50
□ 4051847 Put A Record On, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 42.50 \$ 57.50 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051846	Girl Scout - Snow Friend	2016	2017	\$ 37.50	\$ 52.50
□ 4051852 Tick-Tock, Baby 2016 2016 \$ 30.00 \$ 42.00 □ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 42.50 \$ 57.50 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Bamyard Baby 2016 2016 \$ 30.00 \$ 42.00		4045227	The Elf On The Shelf Helps Santa	2016	Current	\$ 37.50	\$ 52.50
□ 4045229 Ring Me Up, Baby 2016 Current \$ 30.00 \$ 42.00 □ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 42.50 \$ 57.50 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051847	Put A Record On, Baby	2016	2016	\$ 30.00	\$ 42.00
□ 4055664 Girl Scout - Campfire Friends 2016 2017 \$ 42.50 \$ 57.50 □ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051852	Tick-Tock, Baby	2016	2016	\$ 30.00	\$ 42.00
□ 4051843 Jingle, Jingle, Jingle 2016 2017 \$ 30.00 \$ 42.00 □ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00		4045229	Ring Me Up, Baby	2016	Current	\$ 30.00	\$ 42.00
□ 4051850 In Santa's Coat 2016 \$35.00 \$49.00 □ 4051844 I Think He's Cute 2016 2017 \$30.00 \$42.00 □ 4051848 Barnyard Baby 2016 2016 \$30.00 \$42.00		4055664	Girl Scout - Campfire Friends	2016	2017	\$ 42.50	\$ 57.50
□ 4051850 In Santa's Coat 2016 2016 \$ 35.00 \$ 49.00 □ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00		4051843	·	2016	2017		\$ 42.00
□ 4051844 I Think He's Cute 2016 2017 \$ 30.00 \$ 42.00 □ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00				2016	2016		\$ 49.00
□ 4051848 Barnyard Baby 2016 2016 \$ 30.00 \$ 42.00				2016	2017		\$ 42.00
				2016	2016		\$ 42.00
			Guide My Sleigh Tonight	2017	2017	\$ 35.00	\$ 49.00

	4057374	A Surprise For Rudolph	2017	2018	\$ 30.00	\$ 42.00
	4057452	Tuned Into Mickey	2017	2018	\$ 32.50	\$ 45.50
	4057454	Oh, Mickey	2017	2018	\$ 35.00	\$ 49.00
	4057681	Play-Doh Pals	2017	2017	\$ 30.00	\$ 42.00
	4057682	Christmas Scrabble	2017	2017	\$ 30.00	\$ 42.00
	4058582	A Pink Nightmare	2017	Current	\$ 25.00	\$ 35.00
	6000820	Spare Noses, lighted	2018	Current	\$ 40.00	\$ 55.00
	4057519	A Helping Hand	2018	2018	\$ 30.00	\$ 42.00
	4057865	Skating With Tinker Bell	2018	2018	\$ 30.00	\$ 42.00
	6000829	Snow Fun With Mickey	2018	2018	\$ 30.00	\$ 42.00
	6000828	At The Mantel With Mickey, lighted	2018	2018	\$ 40.00	\$ 55.00
	6000830	Lighting The Tree With Mickey, lights	2018	2018	\$ 50.00	\$ 69.00
	6002851	Nutcracker Suite Nutcracker	2018	Current	\$ 25.00	\$ 35.00
	6002850	Nutcracker Suite Clara	2018	Current	\$ 25.00	\$ 35.00
	6002852	Nutcracker Suite Prince	2018	Current	\$ 25.00	\$ 35.00
	6002849	Nutcracker Suite Mouse Prince	2018	Current	\$ 25.00	\$ 35.00
	6002853	Nutcracker Suite Sugarplum Fairy	2018	Current	\$ 25.00	\$ 35.00
	6003494	If I Could Only Go Home	2019	Current	\$ 27.50	\$ 37.00
	6003539	If I Only Had The Nerve	2019	Current	\$ 27.50	\$ 37.00
	6003537	If I Only Had A Brain	2019	Current	\$ 27.50	\$ 37.00
	6003538	If I Only Had A Heart	2019	Current	\$ 27.50	\$ 37.00
	6003538	Are You A Good Witch?	2019	Current	\$ 27.50	\$ 37.00
	6003518	Are You A Bad Witch?	2019	Current	\$ 27.50	\$ 37.00
	6003488	Thanks, Aunt Clara	2019	Current	\$ 27.50	\$ 37.00
	6003477	So Sweet, Rudolph	2019	Current	\$ 50.00	\$ 68.00
	6003478	Sweets For Rudolph & Clarice	2019	Current	\$ 45.00	\$ 60.00
-	•		•			